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You can identify a Turnitin Assignment by its icon.
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You will see a digital receipt
of your assignment

Click the screen to go back to the assignment page
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If resubmissions are enabled you can click
the cloud icon to resubmit, however this
will overwrite previous submissions.
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Click on the blue comment boxes to see tutors

according to the source

You can check this even before the work has been
marked, this can help you to understand how your
originality grade is formulated

The blue toolbar allows you to see tutors comments

_nstmﬂ Feedback X

Vou have no addtional feedback

The aim of this report is to understand the nature of the national environment in

which businesses operate. It will explain how economic systems ®]
allocate resources impact gf fiscal and
on 3 fons, Finally, an evaluation on the impact of

comments throughout the assignment

If your tutor has left overall comments, about
your assignment will be displayed on the right

policy and other regulatory ona chosen

]
it into four groups; command, traditional, market and
mixed. Each different system and weaknesses but eaghy a

= |
@
2
"
Y

community. Depending on what is being produced, and the environment, certain
economic systems will be more successful than others (Gemma, 2014).
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The free market economy is very different as there is no intervention or direction
from the government. This means there are fewer restrictions on business
activities and owne:
society’s viewpeint. The allocation of resources is only determined by supply and
demand for them, which results in less waste and more profit for individuals

, which leads to resources being allocated efficiently from

(Moffat, 2016). A few examples of a free market economy are Hong Kong,
Singapore and Australia.



